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The figures in the margin indicate full marks
for the questions.

1. Answerthe following multiple choice questions (al!
compulsory) ' 1x6=6

(i) Phosphofructokinase is the Ma,i or Flux-
Controlling Enzyme of Glycolysis in Muscle
and it is allosterically inhibited by
(@) AMP (b) ATP

() ADP . (d) G6P

[Turn over



(i) Whichof the following statement is NOT true 7

(a) Chitinisthe principal su'ucuu‘al comPonent
of the exoskeletons of mvertebrates such
as crustaceans, insects, and spiders

. (b) Chitin is biochemicallyalipoprotem ‘

(¢) Chitin is a homopolymer of B-linked

N—acetyl-D-glucosamme residues

(d) Chitin and cellulose large polymer
molecules , .

(iii) Which one of the following reaction is an

example of substrate level phosphorylation

~ from Kreb’s cycle ?

(a) Fumarate to malate

(b) Citrate to isocitrate

(c) Succinyl-CoA to succinate

(d) Succinate to fumarate
- (iv) A widely distributed enzyme that catalyzes the
interchange or shuffling of disulfide bonds until
 the bonds of the native conformation are formed
i o

| (a) Hsp 70
() Chaperonins

| N2EIRSEMD) 200 208 0 ()

- © Peptide Prolyl cis-trans Isomerase (PPI)
(d) Protein Disulfide Isomerase (PDI)

(v) The precursor for the synthesis of
cathecolamines like dopamine, norepmephnne

and epinephrine is
(@) Try (b) Trp
(c) Glu (d) N-acetyl glucosamine

(vi) Fatty acyl groups are transported into the
mitochondrion via for oxidation.-

@@ A Glycetophoéphate shuttle

(b) A camitine shuttle

'(c) A malate-aspartate shuttle -

(d) Receptor mediated endocytosls.

2. Answer the following short answer type questions

(all compulsory) : 2x5=10
(a) Draw the structure on any two of the following :
1+1=2
(i) Peptide bond
(i) Tyr |
(iii) B-D-Glucopyranose
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(c) Write short notés on the following T 5+5=10
" () Protein folding and denaturation
(i) Structure of collagen.

5. Answer any one of the following very long type |
- questions:: © 14x1=14

.

(i) Describe Franz Knoop’s classic experiment
* indicating that fatty acids are metabolically
oxidized at their a-carbon atom. Describe the
mechanism of Oxidation of Odd-Chain Fatty

" Acids. 7+7=14

(ii) Describe the energy recovery pathway of |
Glycolysis pathway in detail. What is the fate

o vate formed at the end of Glycolysis ?

- offy : ' C7+71=14

]
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